Zadanie S. (5 pkt)

Track 8. Uslyszysz dwukrotnie wypowiedzi pi¢ciu 0s6b na temat réZnych narodowosci. Przyporzadkuj kazdej
z wypowiedzi zdanie podsumowujace jej tresé, wpisujac litery (a—f) w kratki (5.1.-5.5.). Jedno zdanie nie
pasuje do zadnej wypowiedzi. Za kazda poprawna odpowiedz otrzymasz 1 punkt.

5.1. 5.2. 5.3. 5.4. 5.5.

a. An understandable impression.

b. Varied stereotypes of people from my country.
¢. True of only a small minority.

d. Only half true.

e. It’s all the fault of Hollywood.

f. A nice image but too limited.

Zadanie 6. (5 pky)

Track 9. Usltyszysz dwukrotnie wywiad z naukoweem. Z podanych odpowiedzi wybierz wlaSciwa, zgodna z
trescia nagrania. Za kazda poprawng odpowiedz otrzymasz 1 punkt.

6.1. The scientist states that
a. in 1983, no one imagined that there would one day be mobile phones.
b. none of the ideas in the 1950s magazine have come true.
¢. our ability to make accurate predictions hasn’t improved since the 1950s.
d. both the book and the magazine predicted well what life would be like in the year 2000.
6.2. Which of these is NOT a reason why it is difficult to predict the future?
a. Computer—generated predictions differ from human ones.
b. New inventions affect predictions in unexpected ways.
¢. Scientists sometimes cannot foresee the future.
d. The data used to make a prediction can become outdated.
6.3. The scientist predicts that
a. there will be hunger due to an increase in population.
b. cars will be replaced by a new form of transport.
¢. nanotechnology will be used all over the world.
d. the climate will change due to a new form of fuel.
6.4. The main problems with technology in the future will be faced by
a. poorer countries.
b. individuals.
¢. farmers.
d. governments.
6.5. The scientist’s vision of the future is
a. that neither extinction nor expansion are likely to occur.
b. the same as Sir Martin’s.
c. that the human race probably won't survive the 21st century.

d. that war and terrorism won't exist anymore.



